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Instructions :

i) All questions are coi ooy
ii) Assume suitable data v
iii) Figures to right indicate @0 0y

Answer any five(M:: i )

Q.
i

State the JIT compiicr iy intnocs
Ans:

JIT compilers necd less memory

JIT compilers run alicr
Code optimization cu.
Any page faults cun be 1oaice

Code that is used tov 1 itl be

What is the differci..
Ans:

C is a function «

b)

programming la:
because it is an
operator overloadii

overloading is sup:

What are the main (...
Ans:

o Inheritan:

e Encapsuiut

« Abstractic .

« Polymorpi

* Method C

* Method Ov

« Objects.

+ Classes.

VOr nece:

[

Lsuee,

locatized on the same page.

Can utilize different lovels of optin
and C+ +2 s

eeh (AIDS) — Feb/Mar-2023

e

00 S

Date :

ary and clearly state it

Mark

CO

SHIEES

e the code is running,

Hion.

co

necause C is a procedural
- obiest driven language
gramming. Function and

in C. Function and operator

II

[S]

II
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d)

What is a destructor

Ans:

Destructor is an it
automatically whene -

What are the advantu:os of Ohje

Ans:

Object-oriented

codebase througi:

and objects (d¢

properties and m-

object inherits eve:

What is this keyword |

Ans:

The this keyword i+

constructor. The ¢

eliminate the coni.

with the same na: .

method or constru

g)

Why is Inheritance v

Ans:

The most impoc

reusability. The ¢

directly used by tli-

as runtime polymaoi, |

h)

List the features ol

Ans:

Simple.
Object-Ori:i
Platform |
Portable.
Robust.
Secure.
Interprete:
Multi-Thre

o O

The JRE isan ab o

What is the o/

JVM is an abbreviiod

g 2 |CO |II
|
ber fimction which is invoked
b eoing Lo be destroyed.
-Cirented Languages? 2 SO I
»s  fiexibility for your
I polymorphism. Classes
language) can also share
The child class or
B o 2 co |1
|
‘oot in a method or
this keyword is to
= and parameters
Louule is shadowed by a
2 CO |11
|
Java is code
parent class can be
verriding is also known
g ' 2 cCoO |1 o
2
oK. and IVM 8 | Co |l
2
St Povironment. The
e The JDK (Java
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The

Development K':)
applications in Jiv:i
various developmen

What is the outpur

class Test

{
public st
{
for(int

{
S'\'HM' !

above code wili vi
loop demands « | -

P;.l' i

e

}

Answer:

What will b
class Perso
{
public Pc:
{
Systen

}
public cla:: |-
{
public i)
{
Systeni.on!

d");

}

public static v

{

Employce ¢

}

re development it that develops
th EE the JEK also consists of

neacr, favaldoe, compilers,

following proeram?

vie-time error hecause the for

ceond part and we are
ud. 1.8
owiio program?
liss constructor called");

Cerson

lovee ¢lass constructor calle

CO

I
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Person

Employee
Explanation

The super() is im
this() is included
Therefore, in t

called first and th

Write a Java v
Correct pgm v

I

What will be the ot
class A

d
{

System.out.prisiiti !
}
}

class B extends A

{
d

System.out.print!
}
}

class C extends B

{
¢

}
i

public class Main¢ 'l

{

public static void rmin Sirinof oo
{
Cc=new C(
h
}
Answer :
1
2
3

Write a java prooi
Correct pgm wi !

n o

What are the types o
advantage of usinv ¢+
ANSWER,;

The Exception Il

mechanism to han

the application caii |

iCH called

called

f no super() or
155 constructor,
¢k constructor is

s called

tse of constructors .
0 full marks

tint methods of string class

wildd b orven full marks

111

S AP What 1s the

verful

o thahe normal low of

CO

111
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However, accordi i
exceptions nam«. . -
o Checked |
e Unchecl

e FError.

Q. | What is the differen
6
Ans:

as these are the in:
difference betwee
place in different i1
same memory sj i

Write a simple Jou
Ans:

Note:- All course outcomes shi!l ¢

Can we just use trv insio
the methods in the

Correct answer w..|
do you implement T,

Both process and tirco

Correct program <i .|

voand cateh

¢ tvpes of

focks? Mention

<inJava? How

v and quite similar

. The basic
nrocess takes
I nxecutes in the

troading example
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